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TNPSC Group 2 Model Question Paper 9

General Studies
In common emitter circuit, the value voltage gain is
(A) maximum (B) minimum
(C) same as in other configuration (D) zero
Ans — (A) maximum
Curgl o OplimeT BBed WSS CLIHSBHHB OS]
(A) o1glsD (B) ®™mmey
(C) wip WDersEBBeLOLILEeT GUTL (D) yguib
Ans — (A) 181
Which one of the following event is not related with Indira Gandhi?
(A) Indo-Soviet Treaty of Peace and Friendship
(B) Bhopal Poisonous Gas Leak Tragedy
(C) Operation Blue Star
(D) Indo-Pakistan War, 1971
Ans - (B) Bhopal Poisonous Gas Leak Tragedy
SIDIHEUTIBMIGT 61hH @ HIBHDe RbAIT STHHCWTH CHTLTNs060THEHI?

(A) @pdw-Gamelwid Siemiod), B LBOIGSTE 2 L 6ILIgHme
(B) Gumumed elageuru] &dlaysh SILITLD

(C) Bov BLESST BLONDHMS

(D) @pdw-urderogres Gumit, 1971

Ans — (B) Gurumsd ellagautu| sdleysh SILITID

Which one of the following is incorrectly matched?
(A) Teflon - Tetrafluoro ethylene
(B) Plexi glass

methyl methacrylate
(C) Orlon - Glycerol, phthalic anhydride
(D) Buna-s - Styrene, 1, 3-butadiene

Ans - (C) Orlon Glycerol, phthalic anhydride
Leraimelsaumpiled o1&k Flluimes QUITmBHSHes0emsv?
(A) QLrieomedr - QL gryGenm@ym 6158660

(B) LUGendbend denmerd - GQHHed GLodHTaHFG60L
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(C) syjreomes - defagrey, Hredd Bl
(D) Huyeorm-8 - erosoLifeir, 1,3-LTugl L memL ufedr
Ans - (C) syjreomeit - Aeflggred, HTeld Hifled
4, e Vitamin is derived only from animal food.
(A) B, (B) By (C) Bs (D) B
Ans — (A) By,

——————————— el L Lo SienFel 2 _ewiellsd DL (HID SeNbdH FnlgUiFl.

(A) B, (B) By (C) By (D) B,
Ans — (A) By,

5. The chemical identified to trap malaria mosquitoes is
(A) Redcol (B) Decrol (C) Cedrol (D) Ecdrol

Ans — (C) Cedrol

--------------- 6760113 Cougl QumrmsiT oBsoflwim OBTHFHHEM6N SH6U(HLD SHESTENLOUHL UISHTH
ST pSWILILL_ BeTTen ).

(A) Qri_amed (B) QLsmed (C) Gar_gmev (D) 151 _gmev
Ans — (C) Q&L_gmed

6. Goitere is developed as a result of lack of --------------- in the thyroid gland.
(A) lodine (B) Calcium (C) Potassium (D) Sodium
Ans — (A) lodine
m&HITUIH FIUTuled gBUBD BHT GHmmalTed 2 L edsd STUIL LT allwnd gBuBSamal.
(A) S1Buimigesr (B) smevdluip (C) Qum_Lrfluwib (D) Gamguid

Ans — (A) o1Bwimgedr

7. The outlines of second five year plan was made by
(A) B.N. Godgil (B) V.K.R.V Rao
(C) P.C. Mahalanobis (D) C.N. Vakil

Ans — (C) P.C. Mahalanobis

@rewiLmbd MbHTIhSH H L HHO HmLLNgHSIU L Wb (B WTJTed 2 HeuTdhsliul L g&l?
(A) B.N. sm_alsd (B) V.K.R.V gréu.

(C) P.C. w&sor@pmiiero (D) C.N. susbassv

Ans — (C) P.C. w&srGpriierd

8. On which date the objectives Resolutions was adopted by the Constituent Assembly?
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(A) January 22™ 1947 (B) November 26™ 1949
(C) January 26" 1950 (D) January 22" 1950
Ans — (A) January 22" 1947

@bHw  pfwievsniolil]  FHlitewiwl  Fewll  elpBIeHlsy  GHNIHCHMNEET  DILBSU  HTOTOISHMS — JBBIH

Osmewi_g ?
(A) meeufl 22, 1947 (B) meubuir 26, 1949
(C) mgawmeul 26, 1950 (D) geureufl 22, 1950
Ans — (A) semoufl 22, 1947
9. Assertion (A) : Under the constitution, the Chief Minister holds office till the pleasure of the
Governor
Reason (R) : The Chief Minister is appointed by the Governor.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Ans — (A) Both (A) and (R) are true and (R) is the correct explanation of (A).

ampu (A) : SITFWeVMLILF FLLSP6TLYG  (PHEVDFSFT DepEfer elGlun o sTemeusny L BHELW

HUH LGHelenul 6Ua&HaSIMTiT.
sryewid (R) :  (pHe0HDFFT WEHBITEL BUIOSBIILIGEIMTT.

(A) (A) opgio (R) @pemiG6o &M Gusuid (R) ereug (A) efis@ sflwren efenéasom@Lp.
B) (A) wpmgio (R) @yemiGGo &M eyemmev (R) ereiiugl (A) elB@ sfwimen el6maaLos060.
(C) (A) &t syemmev (R) Houm.
(D) (A) s yemmed (R) &if

Ans — (A) wimpip (R) @remi@Go &M Gwsuid (R) ereiiugl (A) eliB@ aflwmer ellensbsongLb.
10. The budget is presented in the House of the people

(A) by the President (B) by the Prime Minister

(C) by the Finance Minister (D) by the Finance Secretary

Ans - (C) by the Finance Minister

&EHeMemaIUllsyd aIfe)] GFeve] H L Hemgd FOTIIl LT

(A) Blwgss smeoai (B) Gysio wpafl

(C) vHwenioFair (D) B&&F Geuwsvir

Ans - (C) mAwenioFai

11. Which of the following states was the first to introduce the Panchayat Raj System?
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(A) Tamilnadu (B) West Bengal
(C) Rajasthan (D) Uttar Pradesh
Ans - (C) Rajasthan

UEhaFTWHSI JTL DenDlHL (IPHET (LPHeVTH DMS(PSHID QFUISH LOTHIEVLD
(A) 5100BTB (B) Guope subismemd

(C) gregervosmeit (D) 2_sdrinlyGsaid

Ans — (C) gregerogmeit

Which part of the Indian Constitution deals with the Union Territory?

(A) Part— VI (B) Part — VII

(C) Part — VI (D) Part—IX

Ans - (C) Part — VIII

@bHw iyfwsvenioliied ehsl LG weiwer L@samiset uBp gwmiadpal?
(A) ugs — VI (B) ugg — VIl
C)uggd — VI (D) ugsn —IX
Ans - (C) ugs — VIII

Right to vote and to be elected in India is a

(A) Fundamental Right (B) Constitutional Right
(C) Natural Right (D) Legal Right

Ans - (B) Constitutional Right

@bgHwmalsy aurssefdgd o fenio wBpId CHTHOSBHSILGIL 2 Menio 6T6TLIS
(A) sugliuen. 2 _femio (B) @irdlwevenioriyy 2 Menio
(C) aubens o _Menio (D) 1L 2 _fenio

Ans — (B) sidwevenioriy o Menio

The NDC decided to launch a programme to incentive the states to increase the share to investment in
agriculture in their state plans. This programme is called as

(A) RKVY (B) PMGY (C) CDB (D) MIDH
Ans - (A) RKVY

NDC pgieierd, Gelsnmemienioenul 2stbEUILBSHSD, CaleTTamienioenll B HBIOTET  (PHeOL DL HIT6WIL 6)|LD
LOTHVRIEET60 @ FHLLHMSH UIDIHHH. DiH6ed LT

(A) RKVY (B) PMGY (C) CDB (D) MIDH
Ans - (A) RKVY
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In India the level of consumer expenditure is desirable which secure a diet adaptation at least in terms of
calories is said by

(A) Dr.Minhas (B) P.K. Bardhan
(C) Dandekar and Rath (D) V.K.R.V. Rao and Ashok Mitra
Ans - (C) Dandekar and Rath

@bHwrelsd mHBTCuTR elHuSHHH CFevalTarsl b e 2 euelst Jenwel 6IBLLSBES
UTHIBTIL COBTHHIAMSH 6Tl FnslUieuT

(A) Dr. ifsiammerd (B) .P.K. uirgmein

(C) L@ oBmid 71 (D) V.K.R.\V. gy opmio 218amé 10T
Ans - (C) LenBL&T oBmid 7mé

Recently CSO has changed the base year for National income estimates. The new base year is
(A) 1993-1994 (B) 1994-1995

(C) 1999-2000 (D) 2004-2005

Ans - (C) 1999-2000

Cxdw eumLOTEND HISHLLILGUSBEG Slglienl. et CSO wrBBlwemnns S MmeE&ID UewH
(A) 1993-1994 (B) 1994-1995

(C) 1999-2000 (D) 2004-2005

Ans - (C) 1999-2000

The Government of Tamilnadu has introduced an insurance scheme for life savaing treatments for the
families having an annual income of less than

(A) Rs.15,000 (B) Rs.24,000 (C) Rs.25,000 (D) Rs.20,000
Ans - (B) Rs.24,000

SOs oIsF CUTHISS6 6 2 ulTeETsG WHHHIN CFoaIBETE ST G QIFH - & QUHL
QUHAITUT GUDID GBIUBIGEHSE DellHaHleTendl.
(A) a.15,000 (B) e5.24,000 (C) m.25,000 (D) 5.20,000

Ans - (B) @.24,000

The National Afforestation and Eco-Development Board was set up in India on

(A) August 1990 (B) August 1991

(C) August 1992 (D) August 1993

Ans - (C) August 1992

@bgHumelsy CHdul HTHSHET eueTl WBBID CuUTHeNTHTY (WeGeim eurfuid BimieuliL L g.
(A) syseor. 1990 (B) eumeror. 1991
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(C) symeror. 1992 (D) eymeror. 1993

Ans - (C) eymevl. 1992

Swami Dayanand founded Arya Samaj in

(A) Bombay (B) Calcutta (C) Delhi (D) Lucknow
Ans - (A) Bombay

saumd swrenbsT il FoTmsHms CHrBmielss @ 1D

(A) wbumul (B) ssvmH5T

(C) G609 (D) 6vasGenr

Ans — (A) uburui

What is the percentage of net irrigated area in India under tank irrigation?

(A) 14-15% (B) 10-12% (C) 13-14 % (D) 14-16%
Ans - (C) 13-14 %

Sbswmelsn msy Biumsen ugliuenelsy gfl LTFarhlen el(pssTH eleten?

(A) 14-15 apdsr® (B) 10-12 elpsarh

(C) 13-14 eNpssrlh (D) 14-16 elqpssn(

Ans - (C) 13-14 alpdsr®

Which of the following is not a solid planet?

(A) Mercury (B) Venus (C) Earth (D) Jupitar
Ans - (D) Jupitar

LeirelmesTeuBmIsi 61& H_HCHM6lT Disvev?

(A) ugsi (B) ugsh (C) y (D) ellwmpsir
Ans — (D) aflwimpedr

What is the length of Indus river in Indian Terriotry?

(A) 719 km in india (B) 700 km in india

(C) 709 km in india (D) 740 kmin india

Ans — (C) 709 km in india

@bFHul Beol G eE@Een HbsH HAuler HemD eTednen?

(A) 719 .15 (B) 700 &.18 (C) 709 .8 (D) 740 .18
Ans — (C) 709 &.15

Which of the following holds the ROM, CPU, RAM and expansion cards?

(A) Hard disk (B) Cache memory
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(C) Mother Board (D) Main Memory

Ans — (C) Mother Board

SipsomaLaubnisv, oig ROM, CPU, RAM wmmip elfleuréss il enLenwt 1Ng5Hg1b0smsiTenn?
(A) Bemeverut (b (B) @evLomBm1 Bleneureussid

(C) smuitiusvens (D) wasiieno Bleneeisid

Ans - (C) sruiliuevens

The father of white revolution in India

(A) M.S. Swaminathan (B) Verghese Kurian

(C) C.Subramaniam (D) Hargobind Khurana

Ans - (B) Verghese Kurian

@bgHwmelsy Oeusmiento LFLFuler Hhend

(A) M.S. seumaprg e (B) suirabord @ fluest

(C) C. &lgwewiluid (D) amit@amiisn @ymeont

Ans — (B) autderd @ flwienm

The institution that hops the ranking among colleges in NIRF-2017 is

(A) Loyola College (B) St.Xavier’s college

(C) Shri Ram college of commerce (D) Miranda House

Ans - (D) Miranda House

NIRF-2017 &6b, ChPur eallsd sibdh dsvsufl (pHeL 1D LTgHSHieend?

(A) evBuimeom &evgum (B) yes Gaalwit smevsuml

(C) ufrmd euewilas @mevsuIT (D) Ogmewi.  @svsvld

Ans - (D) flgresii @sv601D

The Central Government scheme that ensures a pucca to every urban poor household by 2022 is
(A) Pradhan Mantri Awas Yojana (B) Smart City Mission

(C) Pradhan Mantri Fasal Bima Yojana (D) Pradhan Mantri Jan Aushandhi Yojana
Ans - (A) Pradhan Mantri Awas Yojana

2022-B@&61 HEHIMIG6IMED QUTIPID JemDBEHEE BIbHDHY B CBTHEGID WwHIAW Dyden LD s1g?
(A) Oy ANl Sieumerd Guimegesm (B) srowomit. dilig  egei

(C) Wysw whAHNuler ..urged ior Guimegsnt (D) ysw whHaANuls Qe Sieyaghd) Guiregem

Ans - (A) gsio wHHMulsT Sieurerd Guimegesm
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The WHO Director-General’s Special Recongnition Award for global tobacco control has been confereed
to

(A) Raj Nath Singh (B) Arun Jaitley
(C) Maneka Sanjay Gandbhi (D) J.P. Nadda
Ans - (D) J.P. Nadda

o sumenaley Lmaulemsy HBLULGE OCFweorBpluenownsd 2 60d SFHTHTT Hineus Henevsuflenr FmiiLy
SBFHTY al(Hewd GLBBeIT

(A) grey BrSH S (B) simemt Giggr’ 69

(C) Guenasr Fehaul HTH) (D) J.P. prLm

Ans - (D) J.P. pLLm

The agency in India that is authorized to maintain Indian Standard Time (IST) is
(A) International Bureau of Weights and measures

(B) All India Radio

(C) National Physical Laboratory

(D) Bhabha Atomic Research Centre

Ans — (C) National Physical Laboratory

@b S CrrdHemg ugTofs@G Hnleuetd 61g&?

(A) 5T6euBsha slenl BEID ieTeiBHelen CFUIGVSHLD.
(B) simensHbdul surGesmed

(C) Badlw Quendw SyUIeUBID

(D) umur oigm1 SumUFS eniowid

Ans — (C) sl Quendul SylieIsELD

Phosphorous strait divides the continents of

(A) Asia and Africa (B) Asia and Australia

(C) North America and South America (D) Europe and Asia

Ans - (D) Europe and Asia

ureroLrerd Kflemewili] 6Thd @M OLIHHIGmTL_Hisemen L1fbamg?

(A) euflwur wimd  syifdbasn (B) spPwim ommid  yeroig@yedum
(C) ou oBmId OHeit QM dHEST (D) mGymiur wimd syl

Ans — (D) xG@ymiur wmmn  syslwr

India’s first private railway station is

(A) Habibganj (B) Bilaspur (C) Kachiguda (D) Sealdah
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Ans - (A) Habibganj

AbHwrelsn (PpHev SHefwimm Juisd MHlemsowld 61gl?

(A) emiitiseh (B) Wermmerdy (C) a5 gL (D) geoLm

Ans - (A) amiiiiseh

Which one of the following is not variant of PSLV?

(A) PSLV - G (B) PSLV-CA (C) PSLV-XL (D) PSLV-Ulv
Ans - (D) PSLV-uLV

Spsewi e1d PSLV-ullelr auend Sisvev?

(A) PSLV - G (B) PSLV-CA (C) PSLV-XL (D) PSLV-Ulv
Ans - (D) PSLV-uLV

5" Bhupen Hazarika National Award, 2017 was conferred on

(A) Madhuri Purandare (B) Dr. Arunava Chattopadhyay

(C) Yeshe Dorjee Thongshi (D) Jeeja Ghosh

Ans - (C) Yeshe Dorjee Thongshi

2017-60 mpsHTeugk yliuer emramfléar Chdw almad GQumUsT

(A) wrgifl yymewi_ TGy (B) Dr. simewimeut & GLmugbuwimGui
(C) wepadl Liired Gsrmiad (D) o8gn Came

Ans — (C) weagedl Lrred Csrmiad

Consider the following statements :

@) The raising of salt duty from 50 paise to one rupee in Surat in 1844, Caused a great discontent
among the people.

(b) Faced with a popular movement the government with drew the additional salt levy.
Choose the correct answer from the option given below :

(A) Both (a) and (b) are true

(B) (a) is true and (b) is false

(C) Only (@) is true

(D) Only (b) is true

Ans — (A) Both (a) and (b) are true
HIDHHEMTL QITHE UIMIBEN6T  Hal6lbBHALD.

(@) 1844-0 Howiih GIHHe0 o (i eufllewul @ibuFH HUFTNENBHSH @O BUTUITS 2 UITHAUISHT6D
&HBET AHBBUSH  DIEDLIHSH6MIT.

Install Winmeen Mobile App : https://goo.gl/s3YY9V Page 9 of 27




General Studies Prepared By winmeen.com

34.

35.

36.

37.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

(b) wssefe GUIIT L &&ABE e, Siyd 2 wibHu ga@BHe0 2 i 2 fevw Hmbul CuBBEI.
SIp&HOBTHHSLILL L HeOmba Filwmer alenLsnwl Gefe] GFuiwe]b.

(A) (2) wpmid (b) @yemGew &
(B) (a) s <yemmev (b) Heumi
(C) (&) w0 sfwreas

(D) (b) o> gflwimeig:.

Ans — (A) (a) wppid (b) RrewGB &

Which mission was sent to India in 1946 that comprised of Lord Pethick Lawrence, Sir Stafford Cripps and
A.V.Alexander?

(A) Cabinet Mission (B) Cripps Mission
(C) Simon Commission (D) Chelmsford Mission
Ans - (A) Cabinet Mission

Quas somgeirery Ly, &1 eoLm@uriT@ &Sfled wBmID A.V. S060EHFTHST DLHSW 6hdH HTHIHE LD
1946-60 @HAHWTelBEG SeIiILILLL S1?

(A) BaLlen araIbE W (B) afluerd ranidh@

(C) emawsit &g (D) Q&ebBuit® &g

Ans — (A) CaLle HTHIHE D

The Chola kings provided lands to the officers and their successors were called as

(A) Sala Bogam (B) Tiruthabogam (C) Jividham (D) Viruthibogam
Ans - (C) Jividham

P eTleensGh SiaTee @BhsLsas aiTed anflasend@Glh GFTY LD6T6ITHMTE eUPBISULGBLD Hlevb
ReITsI DMIPHSILIGSHMBHI?

(A) gm0 GuTaID (B) dmss Gunsid

(C) gailsid (D) almss Gumsid

Ans — (C) e8aisid

In 1760, Lally was defeated in the battle og Vandavasi by

(A) Robert Clive (B) Sir Eyer Coote (C) John Cradock (D) Gillespie
Ans - (B) Sir Eyer Coote

1760- b suewi® BLbH eubsHaurdl Cumflsd eomedenul GHTBHIgH ST WITT?

(A) @ymuir. Bemeney (B) &1 it gal_

(C) sqmeir &ByLmas (D) 960G6veroLd

Ans — (B) g1 st gl

Thiruvasagam was translated into English by
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(A) Robert de Nobili  (B) Father Mello (C) G.U.Pope (D) Father Buchard
Ans - (C) G.U.Pope
HHAUTFHHMS YhIBe0HH60 GLom LTS SHeUT
(A) @gmuim_-19-Opmied (B) GuosoBeur  Limgfluimit
(C) G.U. Guri (D) yser urgfuwimi.
Ans — (C) G.U. Gumt
38. Which is the First reputed Novel in Tamil?
(A) Kamalambal Charithiram
(B) Padmavathi Charithiram
(C) Pancha Thandiram
D) Pratapa Mudaliar Charithiram
Ans - (D) Pratapa Mudaliar Charithiram
BUIPsd LIgFSHH QUBB (PpHeL Breusd 6117
(A) sweomburen gllGHEHTip (B) ugiomeug) gflgHgyip
(C) uebs BHATD (D) dygmu appeduwnir #fihggd
Ans — (D) ysmu apsedwint gfsharip
39. What type of Sampradaya of Vaishnavism was propogated by Ramanuja?
(A) Shri Sampradaya
(B) Brahma Sampradaya
(C) Rudra Sampradaya
(D) Sankadi Sampradaya
Ans - (A) Shri Sampradaya
JTLOTEDIET MO FIDUISHHET 61hdH QIHE FIDUTHTUIRIGNT CUTSH SHHMT?
(A) uf FigTWID (B) Uyibo FoLFSmuILD
(C) sy FwuUysTLID (D) ganneg) FLIFHTUID
Ans — (A) uf FrihTund
40. The million wells scheme was launched in the year
(A) 1988 — 89 (B) 1990 — 91 (C) 1991 — 92 (D) 1993 — 94
Ans - (A) 1988 — 89
lsLedWIsl  SlemrIgm6T S LID T NbalIul L emib.
(A) 1988 — 89 (B) 1990 — 91 (C) 1991 — 92 (D) 1993 — 94
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Ans - (A) 1988 — 89

The marked price of an article is 20% more than its cost price. A discount of 10% is given. After discount
the price is Rs.518.40. What is the cost price?

(A) 480 (B) 576 (C) 596 (D) 598
Ans - (A) 480

@® Ourmeflsh Sidsalmsvenwt ol @GiHs olemsv 20% oFsb. 10% HeiepLy HIUUGABSHI.
HelenLgs@ e Qurmeflsr ellswev ap. 518.40. QuUITeTen i bHeilensy 6leie?

(A) 480 (B) 576 (C) 596 (D) 598
Ans - (A) 480

If a car travels at 60km per hour for 2 hours and then at the speed of 80km per hour for 4 hours. What is the
average speed?

(A) 68 kmph (B) 70 kmph (C) 72.1 kmph (D) 73.3 kmph
Ans - (D) 73.3 kmph

QM ST Wwewidg 60 H.15 Caushalsy 2 WwewiChyw Liwrenidadnsl. e 4 wenlGHyh ewid@ 80 &.15
Causdh gl OFsvaIBgl. sgTaf Gousd ersiien?

(A) 68 &.15/wewfl (B) 70 &.15/woemf (C) 72.1 &.18/oew (D) 73.3 &.18/ 106w
Ans - (D) 73.3 &.18/1oeufl

By which year the Swatantra Party was established?

(A) 1959 (B) 1958 (C) 1957 (D) 1956

Ans - (A) 1959

GHHIHT B & 61HH 6960 Himieuli L g)?

(A) 1959 (B) 1958 (C) 1957 (D) 1956

Ans - (A) 1959

Find the least number exactly divisible by 12 , 15, 20 and 27

(A) 504 (B) 270 (C) 108 (D) 540

Ans - (D) 540

12,15,20 1oBpid 27 elewisenmed FAwmed eu@G@UBLD OSFFMIUI 6T6mTen6mTd  SHIT6w0TH.

(A) 504 (B) 270 (C) 108 (D) 540

Ans - (D) 540

Who started Radhaswami Satsang in 1851 with Agra as its headquarter?

(A) Guru Saligram Sahib Bahadur (B) Shiva Dayal Khatri
(C) Satyanand Agnihotri (D) Madan Mhoan Malviya
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Ans - (B) Shiva Dayal Khatri

SUEBITEN60 2 616 HUWTETLUTHMS HMeVsHLOUIL LoTHS CETewi® 1851 JrHmamd FHFhbBHMmS
O TLmREwenT wmir?

(A) ®m gmeldgmd Framiill LBSTT (B) dleu swimsit g

(C) sswnenbsd bl Gamma (D) wament Gomases  omeveui

Ans - (B) dleu swimsit séi

The area of a circular field is 138600 m? . Find the cost of fencing it at rate of Rs. 4.40 metre.
(A) Rs. 5800 (B) Rs. 5808 (C) Rs. 4808 (D) Rs. 6808

Ans - (B) Rs. 5808

@ el Liomew euweden Lglieney 138600 FHTSL HEG 05.4.40 oipd, mk Caied iemL [ILIGHBHT6
OF606) HTEOTSH.

(A) ep. 5800 (B) em. 5808 (C) m. 4808 (D) em. 6808
Ans - (B) ap. 5808

Gold is 19 times as heavy as water and copper is 9 times heavy as water. In what ratio should these be
mixed to get an alloy 15 times as heavy as water ?

A)1:1 B)2:3 ©1:2 (D)3:2
Ans-(D)3:2

ShIBD Hewrewtengll Gumsyd 19 LMIG SOIOTEHD, STOFD Hewrewtengll GuUTL 9 IDLKIG HIDTEHND
o 6itengl. Hevwlewiengll Gumsd, 15 LMIG SHenomen 2 Geordsd Hevemer OB, Eeneusmel 6166 HEHSHI60
&H6v&HBLILL Cousmr(Bid?

A)1:1 B)2:3 ©1:2 (D)3:2
Ans-(D)3:2

Which year the National Health Programme was started in India ?

(A) 1980 (B) 1981 (C) 1982 (D) 1983
Ans - (C) 1982

@bFHuwmelsd sibdh eIMLID CHFul Wwem@hTUl HEHTHMIH SHILID PFDLIGSILIL L FI?
(A) 1980 (B) 1981 (C) 1982 (D) 1983
Ans - (C) 1982

A bird flies 200 metres west and then turns right and flies 100 metres. Next it turns east and flies 300
metres. Again it turns and flies south for 100 metres. How far the bird from the starting point?

(A) 100 m (B) 150 m (©)124m (D) 116 m
Ans - (A) 100 m

Install Winmeen Mobile App : https://goo.gl/s3YY9V Page 13 of 27




General Studies Prepared By winmeen.com

50.

ol.

52.

53.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

QM upmel GBE SHemaFulsd 200 WBLLT uBbhH eusvdk Up Hmol Gwend 100 WBLLT UBESBS.
ettenm #lpHBs Hmotl 300 B LT upbgk HEoL OeB@E Hewaulsd 100 WU LT UBSEBH. DTIDL
UsiteMuledbdhl LIBenel e6lalene)] HTTHEH60 2 6iT6ng)?

(A) 100 15 (B) 150 15 (C) 124 18 (D) 116 15

Ans - (A) 100 1

The ratio of circumference to the diameter of a circles is approximately

(A)8:11 (B)11:8 (C)7:22 (D)22:7
Ans-(D)22:7

QM QUL SHH6 HBBeMaIBEGHID DiHe el LHHBSID 2 6ten el&HD (GHTITUILLTS)
(A)8:11 (B)11:8 (C)7:22 (D)22:7
Ans-(D)22:7

Ifa:b=2:3,b:c=5:7andcis 42 whatisa="?

(A) 12 (B) 20 (©)21 (D) 22

Ans - (B) 20

a:b=2:3,b:c=5:7eefed C=4266tiBrev a="?

(A) 12 (B) 20 (©)21 (D) 22

Ans - (B) 20

The mass number of a nucleus is equal to the number of

(A) Electrons it contains (B) Protons it contains

(C) Neutrons it contains (D) Nucleons it contains

Ans - (D) Nucleons it contains

QM IEISHH6T HeNB 6161 61H60  cTamTemNSeNBHHGHF FLOLD.

(A) 21860mBGID 61606 JTaTH6I (B) o18eme@Id LG L Taitamel
(B) 21860mH@ID Bluil TTeissin (D) 918609@mé@1b Bluydbeiuireiase
Ans — (D) 91869md@I  Bluydbeflluimeiassit

The potential energy of a particle executing simple harmonic motion is the maximum at its
(A) extreme position

(B) mean position

(C) the midpoint of mean and extreme position

(D) one third of amplitude from the mean position

Ans -(A) extreme position
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arefll Fllews QuibHHHenen GBOBTETEHD @ HIHNH HeNsD UBBEL DIGH6ET 61hH Hlenevuled
QuEHLOLTGWD?

(A) apswer Blemev

(B) ewiow Hlemev

(C) smipw1 Blewevdb@d (Wewes [Heneud@ELOenLuTleomes eLOWILIL|6T6

(D) smiows Blewsoulediba efFameang cpsmilsd @ UhE UG Beneo

Ans- (A) (peverr Hlemev

Which one of the following is non-steroid hormone ?

(A) Estradiol  (B) Prostaglandin (C) Prosgesterone (D) Estrone
Ans - (B) Prostaglandin

SIS MRS MBeUBBIST e0RITUIH Dl6LeVTEH QMTOLOTET 6157

(A) FeroL_FemLuimed (B) LBymerb@Lnalevmsingedt

(C) tiysmervigGrymedt (D) mero@iment

Ans — (B) uBymero@Lralsvmedtigsst

Point out the wrong statement in the following :

Statements :

(A) The part of the cell which occurs between the plasma membrane and nuclear envelope is known as
cytoplasm

(B) The cytoplasmic matrix can perform movement due to cycolosis

(C) The matrix is the seat of various chemical activities

(D) The cytoplasm is composed of only one type of structure i.e. matrix

Ans - (D) The cytoplasm is composed of only one type of structure i.e. matrix

BHIDHEWIL HHHHIBHHEMED HOUBTRNSH Fil 19 HTEWILIBHNLD.

BHBHBHIHH6I

(A) @ QFevsden Llsmmervon meuB@GD 2 I sHelsl 2 mBH@GID G L UGHulsd 2 siern
UTeEHHMBE endFl GLmilenmaid ereiim GuUUIT.

(B) snaL_GLmlenmeroifss Gl Mdberd HBHID HTenoamul QETamIB6IT6Ng.

(C) G Méery eraiiug Benswl Cougdulwied GFuIsd HeLGUEMID LG WTELD

(D) ewar BLmenmorvid @B @b GWIDLILITED SUeUIH HFH Her GLor Mdserd

Ans — (D) sng_GLLlsmmond @6 @@ SieMLLITE ueidHl DiH SHrer Gl fdberd

Oxygenated blood is carried from the lungs to the ------------------ by the pulmonary veins.
(A) Right ventricles (B) Left auricle
(C) Right auricle (D) Left ventricle
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Ans — (B) Left auricle

HIewTUiFeded EmbEHI ----------- usLBom Flemm cpeoloTd D dHerSlee gBBLLLL @JHHID CF60HHIBEI.
(A) susvg Geeunghaled (B) 8La syfidbaso
(C) suevg yfédsv (D) @Lg Geuswngasen

Ans — (B) @Lag1 syfisdlsv

The period at which organisms attains sexual maturity ?

(A) Proestrous (B) Puberty (C) Diestrous (D) Metestrous
Ans - (B) Puberty

QM 2 Ulflerhalel LT6L LsWILEGeT (PpHTFS lenlHev GBILD

(A) (wsteTerdL_yerd (B) yliGUUIgIFHED

(C) swLsteror_gerd (D) Guor_Q_srvr_yerd

Ans — (B) yliQuuigigHed

In monohybrid cross a typical genotype ratio is

(A)3:1 B)9:7 (©)9:3:3:1 (D)1:2:1
Ans-(D)1:2:1

QMMM LswiLsd Heolllen GnIbaHe0 STelLGLD LOJLFTT allgeID

A)3:1 B)9:7 (©)9:3:3:1 D)1:2:1
Ans-(D)1:2:1

The secretion of adrenalin is contolled by

(A) Follicle stimulating hormone (B) Thyroid stimulating hormone
(C) Adrenocorticotropic hormone (D) Luteinising hormone

Ans - (C) Adrenocorticotropic hormone

oibd amriT@omer ol fereder @FdHoHemev L BLLGHHISTBHI?

(A) uteleadsit aTemIBL QBTTELOTEH

(B) snsyrui(y smemipo eprir@Lomes

(C) o MBevim &mingBasmoym s amrTGLOT6
(D) sviupgenendlmi eusmiTGLomedt

Ans- (C) on MBeuim &ming@ammgymiids ammir@Lomest

The word ‘secular’, ‘socialist’, and ‘integrity’ were added in which of the following amendments
(A) 42™ Amendment (B) 44™ Amendment

(C) 46™ Amendment (D) 52™ Amendment

Ans - (A) 42" Amendment
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SDEHHMIL 61hFH FLL G HHHHHH6L ‘OHFFTTUBMB’, ‘FOSHTO’ OBBID QHEMOLILITEH 6T6I3  LIGHBIH6NT

GairdamLI_L6ur?
(A) 46 eugl gL HmeHsD (B) 44 augl s L Hpssid
(C) 46 augl &L HmSHsID (D) 52 augi gL Hmssid

AnNs - (A) 46 eugl gL HHSSID

65. Indian Parliament passed the Administrative Tribunal Act in the year
(A) 1981 (B) 1982 (C) 1985 (D) 1986
Ans - (C) 1985
BhH LTITEBLOMBSSHT6L BliteuTsd STULTLE FLLID BOL(PDBEE obD UG
(A) 1981 (B) 1982 (C) 1985 (D) 1986
Ans - (C) 1985

63. Constitutional safeguards to Civil Servants are ensured by
(A) Article 310 (B) Article 311 (C) Article 312 (D) Article 315
Ans - (D) Article 315
SI&H 2 W HSTMSHEHSGL LUTHISTUUMNSEGID TFHWweosnoliy FU L allgHlumergl.
(A) 155310 (B) alg 311 (C) el 312 (D) afg) 315
Ans - (D) eNg 315

64. The council of Ministers in a state is collectively responsible to
(A) Lok Sabha (B) Rajya Sabha
(C) Parliament (D) Legislative Assembly

Ans - (D) Legislative Assembly
OTHeL DTFL DIMIDFFTH6IT ETHEHHE S BULULL ITHENMTAIT.
(A) wésemene (B) wrlevmisenensu
(C) umymEmLoaIBLID (D) sl weimId
Ans — (D) s weimid
65. Who of the following decides whether a Bill is a Money Bill ?
(A) The Finance Minister (B) The Chairman of the Rajya Sabha
(C) The President (D) The Speaker of the Lok Sabha
Ans - (D) The Speaker of the Lok Sabha
SDHILaITHeMed Wt @ WweFTeHT usw WEFTHTeUT EsLeneoWIT sl6iiLIGHemen HTLomefldapmiT?

(A) mHwenoFat (B) Gsvemevulledt sHemeveut
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(C) ®pwrsd HensveuT (D) wébsemenal FUTHTUISGT
Ans — (D) wéasmemen FUTHTUIST

66. The famous book, ‘Principles of Public Finance’ was published in the year
(A) 1920 (B) 1921 (C) 1922 (D) 1923
Ans - (C) 1922
Uslp GQumm, “Ourg Bauller Cari ur@®sst” eleiB HIed GeuemMul i’ L Siewi®
(A) 1920 (B) 1921 (C) 1922 (D) 1923
Ans - (C) 1922

67. Family planning programme is implemented by which Government of India ?
(A) Central Government with full financial assistance of WHO
(B) Central Government with partial finance assistance of WHO
(C) State Government with full financial assistance of WHO
(D) State Government with partial finance assistance of Central Government
Ans - (D) State Government with partial finance assistance of Central Government
Bppwrelled abg s GOLU BvH S LSHMS BOLWOBILIGSSISBSI?

(A) wowr oya — WHO-ei1 (pap Bauwjseilu e
(B) ewiows oy — WHO-6i1 und)  pgluigselu e
(C) wrPlev oigas, WHO-61 1pp B8 o selluj e
(D) worlev oiga, ewowr spdleir (o HE 2 selluj e

Ans — (D) wrhlsv oips, emiowl Sipfledt (pap B 2 Hellu L e

68. Govt. has recently allowed 100% FDI in many strategic sectors. Which of the following sectors has not
been opened up ?

(A) Space (B) Refinerty (C) e-Commerce (D) Power
Ans - (A) Space

@bHu s 100 FHeNHEH QeuslBT B (LpsHeSl enl LsLEaImI HWBH6MEL 2amEHGHaNSHHI6NeNHI. DIF6D
6bH HIMB DIFl60 FBLIL6l60M60.

(A) aflemGouer (B) s gsMiny
(C) e-suemilsid (D) g6
Ans — (A) allemGisue
69. Assertion (A) : The volcanic dust is considered to be responsible for ‘Little Ice Age’.
Reason (R) :  Frequent volcanic eruption had initiated the process of Ice Age in the geological past.

(A) Both (A) and (R) are false
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(B) Both (A) and (R) are true but (R) is not the explanation for (A)

(C) Both (A) and (R) are true and (R) is the correct explanation for (A)

(D) (A) is true but (R) is false

Ans - (C) Both (A) and (R) are true and (R) is the correct explanation for (A)

apo (A) : Godw UsleEaTSHHE 2 HaTssHHBE 6MDMeVsH SHMFHEET HIJERIOTE SHHSHLILIL L.

aryewid (R) : Opmesiono &mev Lel Siemwlilwedsst smS St GaTLtFdwirer sifiioensy FHmmIGsIT
UeNBTeVHmS BT HHIOTH DEDIDHHSHI-

(A) (A) wigid (R) ByeiiGn Seig)

(B) (A) wppip (R) afl eyemev (R) steiiug  (A) elleir gflwimenr smyemid 216060
(C) (A) wignd (R) &0 (R) eretiugt (A) elest Fflwimen &Tyewid  SHrei

(D) (A) &l eysumsd (R) soumi

Ans — (C) (A) wpmid (R) &M (R) eteiiugy (A) oflest sflwmen smyewid et
Which of the following is / are correct ?

Major exports of Tamilnadu

I. Textile goods

I1. Chemicals

I11. Petrolium

IV. Engineering goods

(A) land 1l only (B) Iand IV only
(C) IV only (D) I, Il and 1V only
Ans - (D) I, Il and 1V only

Leneumenciaupmien FRlwimenened 61l / eTeneu?

SIODBHTL 196 (LpHBHUl gBmIng) CUTHL &6iT

l. Hlowh  UMBHBEIT
1. BT FTUIGTRIBEIT

II. EuL_Bymeduib

(AVA Gumpsluiwsd GUITHL_H6iT

(A) I opmio 1 o G (B) I wmmid 1V ol G
(©) IV @ D) I, I oimio 1V wr_@o

Ans - (D) I, 1l wsmio 1V oG

The standard created by Electronic Musical Instruments Industry to connect a music synthesizer to a PC
and vice versa is --------------

(A) MIDI (B) MINI (C) MIKE (D) MIKI
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Ans - (A) MIDI

Rmg  @emenuilUpBHHemul  HllGUTICWTH  enemibdad DHBE OBIHMOWLTHD  CFUINISBE
Wsiienam RenFd HHMBT GUTNIBHHTE0 2 [HEUTHBLILL L HFID ---------- SLELD.

(A)eb & 19 &g (MIDI) (B) e1b &g eteir &g (MINI)

(C) e 3 Bs m (MIKE) (D) sib & Bs &g (MIKI)

Ans - (A)siib &3 19 & (MIDI)

What is the name of the Professor who coined the name computer “virus’ for self replicating programs ?
(A) John McAfee (B) Fred Cohen (C) Ted Nelson (D) Lance Hoffiman

Ans - (B) Fred Cohen

HMOHHTCN CLIHEGHD HreB@, Hewilel BFFHFeL el QLW CHTGHHSH CuyTdAflwir Guwir
6T601601 7

(A) marerr Guoss." .11 (John McAfee) (B) Quy. Gsmamen (Fred Cohen)

(C) L. Opevser (Ted Nelso) (D) svmeiterd <y,.".018wer (Lance Hoffman)
Ans — (B) Quyi. Gsmamer (Fred Cohen)

A temporary storage area, attached to the CPU, for 1/O operations is a

(A) chip (B) buffer (C) register (D) core

Ans - (B) buffer

CPU -Lenn @ememisbaliL Beiten 2 _eiehL / Qeueluihy QFweoum Gesrs o sob Hhereds GFilILGID
(A) Fsvsur (B) @emL_wismld (C) uxGou(® (D) 2_sitenasid
Ans — (B) @enLwisLd

Palbinder Kaur Shergill was in news recently for

(A) Appointed as Canada’s Supreme Court Judge

(B) Appointed as Secretary, Department of Economic affairs

(C) Appointed as Judge of Supreme Court of India

(D) Appointed as Judge of Chennai High Court

Ans - (A) Appointed as Canada’s Supreme Court Judge

ureLllbHT ST QFTHIL 6T6TLINIT QFUISHSHT6ETHM6D GIT HTT6UID 6T6560 7

(A) san_relleit ©_F& BB BAUSWTS CHTHOSHBBIILLLTT &
(B) Qurmenmary sienpule GQFuwisusord  LgwiUILDTESSILL LT

(C) @b 2_F& BB BALSWTES LiswlLDTSHSIILLLTIT

(D) Gesitenen o _wit BB HAUSUITS LIsAUILDTSHSUILIL_LTT

Ans — (A) saiLneler o _F&F BAWB BAUSWTS CHib6ldHaHLILILLTT
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The first Indian women to be elected to international tribute for the law of the seas is s
(A) Seema Malhotra (B) Neeru Chadha

(C) Lakshmi Pandit (D) Preet Kaur Gill

Ans - (B) Neeru Chadha

HLEVFTT FLLBIBEHEHHTO FTalBHsd HTUTWSHHBEG CHTHOBHBHSHSILIL L (pHev @RbFH Ul GLewsr wirr?
(A) Fwor  ws0BamT T (B) s gdhsm

(C) svsa316l Lol (D) Ufdh eyt &l6v

Ans - (B) bm sdHam

Which film has been declared as the best film in 62™ Film Fare Awards 2017 ?

(A) Sultan (B) Pink (C) Neerja (D) Dangal
Ans - (D) Dangal

62 b el elmpa auphiE eliprelsd 2017 @Qev FAmpsH SeyluLons BHimbelsHaESLILIL L
FHeoyluL b 61g!?

(A) ssvgei (B) vim (C) pyegr (D) smaissd

Ans - (D) smhised

Which is AUSINDEX — 17 related to ?

(A) Scorpene-Class Submarine (B) Artillery gun

(C) Bilateral Maritime Exercise (D) National Stock Exchange of Australia
Ans - (C) Bilateral Maritime Exercise

AUSINDEX-17 e158anm(® QaTLitjent_uigh?

(A) erommlsn auened BT ppa BLILIGY

(B) Syrua

(C) @mariy sLsogrt Lulmnd

(D) aevaGredwimaien Gadlw LBIGL LMeIToHSHmen LoD

Ans — (C) @mariy sLsoatt Lulhd

Catosat-2E satellite was launched by ISRO through the launch vehicle

(A) GSLV-F09 (B) PSLV-C38 (C) RLV-TD (D) GSLV-MK-III
Ans - (B) PSLV-C38

seLram_ - 2E Gowmens BGxmeir ISRO — aumed 6bd 6UTHNID LpevlD sFeulILI L 17

(A) GSLV-F09 (B) PSLV-C38 (C) RLV-TD (D) GSLV-MK-III
Ans - (B) PSLV-C38

The theme for World Environment Day 2017 is
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(A) Many species-one planet-one future

(B) Forests-Nature at your service

(C) Connecting people to nature

(D) Zero tolerance for the illegal wildlife trade

Ans - (C) Connecting people to nature

2017 2_6v@ FMBIF GO HeMHHle HHUCUTHEIT

(A) uev Remo-gBr Bsme- @By eFTaEmeVID

(B) s1@ssit-cpeoid GuiBensd Blob@ BFmel CFuIBBEI.

(C) BubenaBuIT® el HTsmen CBTLTLILGSHSI

(D) s LalBysmonen susolevmid aumeniLGensd (WBHeID OUTHIGS GQUIeOTEI.

Ans — (C) uibensBun®  weflGiTaams Q&TLTLILGSHES!

India’s latest communication satellite GSAT-17 was launched from

(A) Satish Dhawan Space Centre (B) Kouro, French Guiana

(C) Taiyuan Satellite Launch Centre (D) Vikram Sarabhai Space Centre

Ans - (C) Taiyuan Satellite Launch Centre

@pdwrelst GSAT — 17 eteti QOHTLTY OFWIBmBCHTET Siewienipusd 6ThRIBHHSH! Feulill L &I?

(A) 5860 Lteuren ellemiGeusl enLoUID
(B) sougmey, .".QUOTEHS emBUITEHIT

(C) emswjeurst CFWBMBHEEHTEN 6J6)GH6NID
(D) efaspip amgrumul ellemiGeaied  eniowibd

Ans — (C) enswjoumein QFWIBmHHEEHT6  6J6)GH6TID

Bipin Chandra Pal addressed a huge crowd assembled on Marina Beach during the year
(A) 1917 (B) 1907 (C) 1906 (D) 1916
Ans - (B) 1907

Quflenm sLBsenguied LIder FhHalgUTEL 61hH Peuingsd LHSLEUAW Sl LD @eiipfled 2 enFuwrmsleuT.
(A) 1917 (B) 1907 (C) 1906 (D) 1916
Ans - (B) 1907

Which among the following was the first Indian Vernacular Newspaper ?

(A) Sambadh Kaumudhi (B) The Bengalee

(C) The Young India (D) The People’s Friend

Ans - (A) Sambadh Kaumudhi

SIPBHTHILINSNBEHT Rbawmeien (pHsv LIgThHAHul CFUISHSTET 6187

(A) gioug Gaer(ps) (B) & OGumisted
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C) & wi @pgwr (D) & 1nfso 1iyem
Ans — (A) sibug Gsen(pd)
83. Consider the following :
Assertion (A) : A typical Bacteria Escherichia Coli is a Prokaryote.
Reason (R) :  Itis able to swim by flagella.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) Both (A) and (R) are false.
(D) (A) is true, but (R) is false.
Ans - (B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
BIDHEWIL UTHBWIBIBENET HEU
ampu (A) : revGafAwn etets uTdleNuwim LGIT@sNWIT 6wl FTTHSHEI.
srgenid (R)  : oi@ SnaFullenipined hamD Hmei GlaTewiLgi.

(A) (A) wigp (R) @reaipio afl, Guwsuid (R) eteiugl (A) elig gflwmen elendsd Sy@Lb.
(B) (A) wigip (R) @reaigio afl, Guwsud (R) eteiugl (A) elig gflwmen elendasiosvsn.
(©€) (A) wipio (R) BremGn Heu.

(D) (A) &M, syemmed (R) Bouml.

Ans — (B) (A) wigip (R) @reaigio afl, Cuwsuib (R) steiugl (A) eli3g sflwmen elenébasiososn.
84. In 1930, the Salt Satyagragis marched from --------------- to Vedaranyam.

(A) Tiruchirapalli (B) Kanyakumari (C) Nagapattinam (D) Tiruvarur

Ans - (A) Tiruchirapalli

1930-0 SueWiB 2 (1] FHUITHFHBEIT ------m-mv R0mha Coumpmyemiuid GhTeHa) HewL  LIUIGHILD
CLoB O eI 60T,

(A) Smsdgmiiusie (B) senaflwim@Lom

(C) mraiiuL_igenid (D) 8meumemit

Ans — (A) dmFdlgriuesiter
85. The book “Public finance” was written by
(A) J.M.Keynes (B) J.S.Mill (C) A.C.Pigou (D) A.R.Prest
Ans - (C) A.C.Pigou
QUTHEMTHTTHHL “OUTH BHIFH” 6160IB HIT6L WTTTEL 6T(LPSHILLL 17
(A) Geg.e1d &sirerd (B) Bx3.61610.1060
(©) g.8.00 (D) g.syr.9y6ror
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Ans — (C) g.4.1@

Who was the poet responsible for the release of Cheran Kanaikkal Irumporai from the Chola Prison ?
(A) Poigaiyar (B) Avvaiyar (C) Kakkai Pandiniar (D) Nakkirar
Ans - (A) Poigaiyar

Cayeir wememidbHTeL EHGUTEHBemW CamipT Hewpuledmbal & o Helwmuil Smbs LeveT wimr?
(A) QurwienswiT (B) @emeweuwinit

(C) srdems umgesflwimT (D) maasyit

Ans — (A) Gurwienawiit

One of the main weaving centres of the Imperial Cholas was

(A) Tondi (B) Madurai (C) Poombuhar (D) Uraiyur

Ans - (D) Uraiyur

Campls Buyrdled GBEFalH GHTNL B QBB (WpHHwiTer S Fiseilleyd @eml 61al?

(A) Ggmeg (B) waismy (C) wibyesit (D) 2_sopuyr

Ans — (D) o_ewpuy

What is next ?

2@ @V U@, e

A)?@!+ B)+?'@ OC)+?2@! D)+ @ +!
Ans-(C)+?@'!

SIBSHBH UBHEUSH 616016017

20+, @!'+2,1+?2@, ..........

A?@!+ B)+?2!'@ C+72@! D)+ @ +!
Ans-(C)+?2@!

If ANGLE is written as CPING then PLANE must be written as

(A) RNCGP (B) RNCPG (C) RNCQG (D) RCNPG

Ans - (B) RNCPG

ANGLE sr6iiugy CPING stenr stapstiuc Lmsd PLANE ersieurm stapsiii Geusmi(hLb.

(A) RNCGP (B) RNCPG (C) RNCQG (D) RCNPG

Ans - (B) RNCPG
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Two persons A and B are engaged in a work. A can do a piece of work in 12 days and B can do the same
work in 20 days. They work together for 3 days and then A goes away. In how many days will B finish the
work ?

(A)9 (B) 10 (C)12 (D) 17
Ans - (C) 12

A wppid B @meumd @m Causmevenuwl QFuidsimpert. A, 12 BTl sefed i6IBaIemevsnul (PI9dhd (LPIQULD.
B genait o18x Geusmevemut 20 Bl seMed (pighs (piguld. A, B @meumid Gaihgl 3 Bl &6 Geausmnsv
CauisLlier A siauemgaill (b OFsmel LT s Ceousmsvenwl B eidmemen BT s6rMled (LWiglimir?

(A)9 (B) 10 (C)12 (D) 17

Ans - (C) 12

Find the missing alphabets in the given series :

13ca, 216fab, 25eb, 237-----, 4614, ........

(A) gce (B) gcb (C) gdb (D) fcb

Ans - (B) gcb

QBTRGBILLL OHTLAH Gamgl L, G550 Bmbs Galemigll 61(pHSHIH6T LTne?
13ca, 216fab, 25eb, 237-----, 4614, ........

(A) gee (B) gcb (C) gdb (D) fcb

Ans - (B) gcb

Muskmelon, Watermelon, Vegetables, Cucumber, Moong etc.., are growing during March to June in India.
Itis called as

(A) Kharif Crop (B) Rabi Crop (C) Zaid Crop (D) Horti Crop
Ans - (C) Zaid Crop

SHowIewiT LD, SHiTLILLF6will LD, STUISMIE6T, Qeusitenfl, LTAiLuIT Seiienid v LUNTSET OTTF (Lp&H6L
Seit eueny QbFHwmalsd 2 BUSHSH GFUILNILGSBS. ReuBplss CQUTHIITEN GUIUIT.

(A) srfiuudi (B) gm@  wudir (C) ;gwis wulir (D) aprinig Lt

Ans - (C) gwis uullin

The numbers are in the ratio 15 : 11. Their HCF is 13, which of the following pairs can they be ?
(A) 194, 143 (B) 195, 142 (C) 195, 143 (D) 196, 144

Ans - (C) 195, 143

@rewi(h eTevIBe 15:11 6l6iiB  e&HHHeI6Ten Siemausbselledt 15.6LT.6ou 13 erafled, &6 OBTBEHSBIILIL
cTenIE6M6L 6THINITE S[HHBDH (LPIQUID?

(A) 194, 143 (B) 195, 142 (C) 195, 143 (D) 196, 144
Ans - (C) 195, 143
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95.  Simplify x*—3x — 10/ X~ x—20 x X’— 2x + 4/ x*+ 8
(A) x+4 (B) 1/x+4 (C) 1/x+2 (D) x+2
Ans - (B) 1/x+4

FHIPHS :
X—3X — 10/ X*—~ X — 20 X X*— 2x + 4/ x>+ 8
(A) x+4 (B) 1/x+4 (C) 1/x+2 (D) x+2

Ans - (B) 1/x+4

96. The monthly income of a person is Rs. 5,000. If his income is increased by 30% then what is his monthly
income ?

(A) Rs. 7,000 (B) Rs. 5,500 (C) Rs. 3,500 (D) Rs. 6,500
Ans - (D) Rs. 6,500

RHAUHEMLUI IDTSH QIHIDTEID 5.5,000 SieumenL il 1omd auoreid 30% o wimb GuTgl 1OTH  IHLOTEID
eTE0TE0TNTH G (HIHEGID?

(A) ew. 7,000 (B) . 5,500 (C) m. 3,500 (D) em. 6,500
Ans - (D) ep. 6,500
97. The value of (-5)(4)(2)(-1/2)(3/4)

(A) 10 (B) 15 (C) 12 (D)0
Ans - (B) 15
(-5)(A)(2)(-1/2)(3/4) &1 gy
(A) 10 (B) 15 (C) 12 (D)0
Ans - (B) 15

98. If 4x + by = 83 and 3x/2y = 21/22 theny — x = ?
(A) 4 (B) 3 (C)6 (D) 2
Ans - (A) 4

If 4x + 5y = 83 wmmip 3x/2y = 21/22 qiefled Yy —X =?
(A4 (B) 3 (C)6 (D) 2
Ans - (A) 4
99.
100. If the length of a rectangle is doubled and the breadth is tripled then which of the following is true?
(A) Perimeter is multiplied by 5 (B) Perimeter is multiplied by 5/2
(C) Area is multiplied by 5/2 (D) Area is multiplied by 6
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Ans - (D) Area is multiplied by 6

QM OFIBHIN HeHm®d @@ L RISTEHAD DHVHMS AP6IIH LOLBISTEOID BB,
SLPHEMTL_eUBWIeT 615 Ffl?

(A) sBmene) 5 LAIGIGLD (B) ammeney 5/2 wL_misnEd
(C) ugtueney 5/2 o1_misTE1D (D) ugtieney 6 DL MIBTEGLD

Ans - (D) ugliLene) 6 DLBISTGD
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